SuMPO EPD SUMPOERIESANINTOIS L

SE“MS’D — B A AT IR S
.. S4TINBESE (EPD) FRAT RERPIHE1-14-8
VERIFIED KANDA SQUARE GATE
E#EFS ¢ JR-AI-25373E https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

ETT7AML EVRR /-3 /A
FUJIFILM Business Innovation Corp.

A3 hS—EEH

A3 Color Multifunction Printer

- ApeosPort C5570 (Model-CPS)
(for HK)

™ -
Apeos. Apeos OJ. ApeosPro. ApeosPort . £&U ApeosPrint (&, BEIAINAESHKRA IR—S KRR S OB REZEF(EIFHETT,
Xerox, Xerox 0T, B&UFuji Xerox OJ(&, RKECOVI A OEIREEEIEECTY .

BETEHEM ERES JR-AI-25373E
EFAPCREFS  PA-590000-Al-08
fWE1EHEY
PCR% CIEINEpal o
BEENREXPE NS 2026418 30H
| f=8a3) O e s A WIEEEE  2026%1813H
OEREMETE Q4LE Q7@ OfEA - #iF RIAAFR YAT LRI A =
®ORZE- UYL RIAES 2025-FB-EL-094
WEAIEZEAR 203118128
A0 HK, TEMLEKR-FET PCRLE1-DENE
A=K : ApeosPort C5570 (Model-CPS) REBZ 2023%F 98 1H
FEMAH  h5-EAK EPAR) ZER B Ex
ENRIZRE : /270 55ppm (A4 LEF) (FTE — MRt EE A Y AT T IR E HE XK
15— 55ppm (A4 LEF) B=FBRIE* B HT
SAAFTIX 1 SRA3(320x450 mm). NEBIRIES
12x18"(305x457 mm). A3
FYY/AE-/AF VY ISO140251E>T=ARE 5 Kk U7 9 DIRIL LIIREE
il A FN R e /ADF (R FE B Eh55 A H) ORER WAHLER
*YAT LRI E R (T EEEERNORIEDISEF. YATLRAEIT>EEEED
LEETH.

Buahtse BEIMIWAESHRIAINR—>3>RAEtt
EaEmAXAREHFSV6THIE
https://www.fujifilm.com/fb/

Zi&ES © JR-AI-25373E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

Meeo SuMPO EPD SUMPOBEIESAINTOY S s

Su
E P D _ —BAEEAPATI IR E RS
of .0 S4TNBIBEE (EPD) ERATAERAME-14-8
Yk REELED KANDA SQUARE GATE
BipES JR-AI-25373E https://ecoleaf-label.jp
1TV VIV EFMmER
SIEZEE - &5 kg-CO2eq 8.89E+02 2.73E+01 3.54E+01 2.97E+02 1.55E+02
AV BHIE kg-CFC-11eq 6.65E-05 4.63E-08 2.62E-08 1.21E-05 3.35E-08
EREL kg-PO43-eq 1.53E-02 1.23E-03 1.87E-04 1.74E-02 1.84E-04
72| d kg-SOzeq 2.33E+00 1.84E-01 6.04E-02 1.35E+00 1.67E-01
HALEAFII I kg-CzHieq 1.79E-02 3.56E-05 4.08E-04 2.67E-03 1.30E-03
FEME RS - 4 kg-Sbeq 8.77E-01 1.02E-04 1.35E-05 1.52E-01 3.23E-05

S1THLIIWAIRY Y 3 IREIEE R
—REROERCET31E1R

FRERE | WERE | AR Efg';fﬁ s
BHATRE—RER - IRIF- (RPRy) M) 1.76E+03 2.33E+02 9.71E+00 1.46E+03 7.27E+01
BAETE—RERE - IRVE-2EHE (RPRy) MJ 1.50E+01 3.91E-03 2.52E+02 6.54E+02 1.37E-02
FEFETEE—RER - ITRILF¥- (NRPRY) M) 1.45E+04 9.44E+02 4.14E+02 6.91E+03 8.47E+02
FEBEATE—RER - IRLE-2HBME (NRPRy) MJ 1.83E+03 2.96E-01 2.83E+00 8.32E+02 1.79E-01
RKKDHEEE m? 4.44E+00 2.55E-02 2.65E+01 6.98E+01 1.30E-02
HEBRICEAT2EMIER
EBEEAIRELTEELELE,
EEHEPAR)DIZEYFTUATEELTVET,
B RO EFE AR EMTT,
(B - MR ICB BRI EROETEEENE A,
ERBOEN . IRVF-25-T0TF LVer3 28 (SR> TCHE LETECIEZ TICEELELE,
- EENRIMELL. 451,200 T,
1/4 x 32 (J37/8) x 4710 x 5 (A) x 4 (B) x 12 (7 B) x 5 (&) = 451,2004¢
Z Db DIRIEFDEEIR
MRS LOYECE S 28RS EEYMECETZIER
-8 (ERIBS) Bifyy b= CAS No. ENE
@ 62 kg - - -
SuUS 1.1 kg - - -
TIVIZUh 0.86 kg
ZothERE 10 kg ERALEZRT-IDEZXS
T3AFvY 44 kg REAIE, LCIT-5N-2RIDEA Ver3.4, SUMPOREININTOIS L& FT -5
BN 0.29 kg Ver.1.16& AL TWET,
AR 18 kg
R A BEEMR 40 kg -
it 6.4 kg
Z0ft 5.4 kg

@T-YEEDHEL. PCRELUVEE - ESHEESBL TR,
OLLEIIDVTE. BEE - EERBICRESNREEHB LSS LLARDONEEA,
(BEBSURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

